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Wi (%)

ARBRIE | CHERER S R = HIERERE | oE
pH1.2 15 5y 99.8 99.6 -0.2 85%LLE | i A
pH5.0 15 5y 93.0 94.9 +1.9 | 8%LLE | #H &
pH6.8 15 4y 99.5 99.5 0.0 85%LA I WA

K 15 43 86.2 86.3 +0.1 85%LLE | 1 A
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AR ) E R A A | A - ) FLHE ) OE
pH1.2 15 5y 99.8 100.1 +0.3 | 8%LLE | #H &
pH5.0 15 5y 93.0 96.3 +3.3 | 8%LE | #H A&
pH6.8 15 4y 99.5 99.5 0.0 85%LA I WA

K 15 43 86.2 85.4 -0.8 85%LLE | 1 A
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A~ F MR OD §E| 2345.499 29.151 57416 | 6414113
20mg [ 7 =/L¥ ] +476.011 +6.478 T T
LA 2288.865 27.797 R 63,84 8.7
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